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4.1 — Graphing Linear Equations

Graph the equations by using an input/output table with at least 3 ordered pair solutions.

x |-110

y |32 ||

LN
-1|d
o

<

) | T e

——1 315

......

4) y=3x-1

-
0

9.
-y
I

1
6) y=§)€+4

——1 315

......

X Z,“{,( y
Zz |i()-l |-2
O |30 -1 |-]
Z i1 o



3 [

9 y=x ' {a

\

Z d \
A1 1

"q '5 5-4-3-2 1 2 3 4 ij
0|0 % ;
115 . :

1) y= §x+l : Ha
* 2| A
- b
-921° —5/=4 - o[ 1 234 5%

I gas :
o 2./ :—3
s
3|3 ;
13) y = -4 sAy
£y g
Y 1
I 5-4-3-2 |0o| 1 234 5%
o |- "
Ls
- L. b
, y 6 |—5 7
LY

Solve (isolate) for y.
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Solve (isolate) for y. Then graph the equation.
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The equation y = Ex represents the cost y (in dollars) for x pounds of bananas.

a) Graph the equation.
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¢) Use the equation to find the exact cost of 7 pounds of

Ay
b) Use the graph to estimate the cost of 7 pounds of
bananas. - | -
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10) The equation y =2.5x + 35 represents the cost y (in dollars) of the family meal when the food costs $35
and x beverages are purchased.

a) Graph the equation. x :Zﬁ 2
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b) Use the graph to estimate the cost of the family meal &“
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when 5 beverages are purchased. % é/Z {p
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c) Use the equation to find the exact cost of the family
meal when 5 beverages are purchased. N
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